Ellipse Formulas for Eyebrow Roof Design

Intersecting Slope Angle = arctan((Roof Pitch - Dormer Pitch ) + 12)

Semi Minor Axis = Radius

Roof Surface Semi Major Axis = ( Radius + tan( Intersecting Slope Angle ) ) + cos( Roof Pitch Angle )
Flan View Semi Major Axis = Radius + tan( Intersecting Slope Angle )

Elevation View Semi Major Axis = ( Radius + tan( Intersecting Slope Angle ) ) * tan( Roof Pitch Angle )
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Eyebrow Roof Design based on €" door trim miter angle




Ellipse Formulas for Eyebrow Roof Design

Intersecting Slope Angle = arctan((Roof Pitch - Dormer Pitch ) + 12)
Semi Minor Axis = Radius

Elevation View Semi Major Axis = ( Radius + tan( Intersecting Slope Angle ) ) * tan( Roof Pitch Angle ) Aw%

Eyebrow Dormer Height = 43.46

Eyebrow Roof Height = 43.46

Radius = 98"

Roof Pitch = &:12

Dormer Pitch = 4:12

Roof Pitch Angle = 33.69°

Dormer Pitch Angle = 18.43°

Intersecting Slope Angle = arctan((& - 4 ) + 12) = 18.43°

Semi Minor Axis = 98
Elevation View Semi Major Axis = (98 + tan( 18.43°)) * tan( 33.69°
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mv\m_o—)Oi Dormer IWHDS& [130.421] Intersecting Slope Angle = arctan((Roof Pitch - Dormer Pitch ) + 12)
| . Semi Minor Axis = Radius
= Radws + tan( Intersecting Slope Angle )
_ Eyebrow Width
4o Eyebrow Dormer Height = 43.46

Radius = 986"

Roof Pitch = 8:12

Dormer Pitch = 4:12

Roof Pitch Angle = 33.69°

Dormer Pitch Angle = 18.43°

Intersecting Slope Angle = arctan((& - 4) + 12) = 18.43°

3 #1 Intersecting Run = Eyebrow Dormer Height + tan( Intersecting Slope Angle )
651g Intersecting Run = 43.46 + tan(18.43°) = 130.42
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Semi Minor Axis = 98

= 98 + tan( 18.43°) = 294.0&
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Ellipse Formulas for Eyebrow Roof Design [246.16
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Intersecting Slope Angle = arctan((Roof Pitch - Dormer Pitch ) + 12)
Semi Minor Axis = Radius 763
Roof Surface Semi Major Axis = ( Radius + tan( Intersecting Slope Angle ) ) + cos( Roof Pitch Angle )

Eyebrow Dormer Height = 43.46

Radius = 98"

Roof Pitch = &:12

Dormer Pitch = 4:12

Roof Pitch Angle = 33.69°

Dormer Pitch Angle = 18.43°

Intersecting Slope Angle = arctan((& -4 ) + 12) = 16.43°

Intersecting Run = Eyebrow Dormer Height + tan( Intersecting Slope Angle )
Intersecting Run = 43.46 + tan(16.43°) = 130.42

Main Roof Pitch Roof Surface Rafter Length= Intersecting Run + cos( Roof Pitch Angle )
Main Roof Pitch Roof Surface Rafter Length= 130.42 + cos( 33.69°) = 156.69
Semi Minor Axis = 98

Roof Surface Semi Major Axis = (98 + tan( 18.43°) ) + cos( 33.69°) = 353.4455
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